
Caractéristiques de l'épreuve

Saillant-Charbon TH2 originales

Joueurs : 16 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 1 1

Serie 2 : A : 0 B : 1 1

Serie 3 : A : 1 B : 1 2

Serie 4 : A : 3 B : 2 C : 2 D : 0 7

Serie 5 : A : 2 B : 0 C : 2 D : 1 5

Serie 6 : A : 0 B : 0 C : 0 D : 0 0

Serie 7 : 0 0

Châtel-Guyon TH2 originales

Joueurs : 127 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 2 B : 1 3

Serie 2 : A : 4 B : 5 9

Serie 3 : A : 6 B : 5 11

Serie 4 : A : 24 B : 18 C : 7 D : 7 56

Serie 5 : A : 11 B : 11 C : 9 D : 3 34

Serie 6 : A : 7 B : 5 C : 0 D : 0 12

Serie 7 : 2 2

Vidauban TH2 originales

Joueurs : 76 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 2 2

Serie 2 : A : 3 B : 4 7

Serie 3 : A : 6 B : 2 8

Serie 4 : A : 15 B : 7 C : 5 D : 4 31

Serie 5 : A : 9 B : 11 C : 2 D : 1 23

Serie 6 : A : 2 B : 1 C : 0 D : 0 3

Serie 7 : 2 2

3X Châtel-Guyon Saillant-Charbon Vidauban

Joueurs : 219 M = 438 D = 2

Joueurs par Série : Total :

Serie 1 : A : 2 B : 4 6

Serie 2 : A : 7 B : 10 17

Serie 3 : A : 13 B : 8 21

Serie 4 : A : 42 B : 27 C : 14 D : 11 94

Serie 5 : A : 22 B : 22 C : 13 D : 5 62

Serie 6 : A : 9 B : 6 C : 0 D : 0 15

Serie 7 : 4 4
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